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QUESTION 1

How many cables are required to install a 4 node VxRail Model G410 cluster with 1 GbE into a rack? 

A. 4 CAT6 and 16 Twinax network cables 

B. 4 CAT6 and 32 SFP+ connectors, and 16 fiber cables 

C. 4 CAT6 and 8 Twinax network cables 

D. 20 CAT6 network cables 

Correct Answer: D 

Reference: https://www.dellemc.com/resources/en-us/asset/technical-guides-support-information/products/converged-
infrastructure/docu86660.pdf 

 

QUESTION 2

A company is planning to deploy their Virtual Desktop Infrastructure on VxRail. The solution should support 2D and 3D
high end visualization. Which VxRail license is required for this solution? 

A. vSphere Enterprise Plus 

B. vSphere with Operations Management Enterprise 

C. vSphere Enterprise 

D. vSphere Standard 

Correct Answer: C 

 

QUESTION 3

You are asked to cable up a VxRail G Series cluster to a redundant pair of 1/10G switches. What is the cabling best
practice for this configuration? 

A. Cable ports 1 and 2 to oneswitch. Cable ports 3 and 4 to the other switch. 

B. Cable ports 1 and 2 to one switch. Cable ports 3 and 4 to the other switch. Cable BMC from node 1 and 2 to one
switch. Cable BMC from node 3 and 4 to the other switch. 

C. Cable ports 1 and 3 to one switch. Cable ports 2 and 4 to the other switch. 

D. Cable ports 1 and 3 to one switch. Cable ports 2 and 4 to the other switch. Cable BMC from node 1 and 3 to one
switch. Cable BMC from node 2 and 4 to the other switch. 

Correct Answer: D 
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QUESTION 4

Which VxRail Pre-Installation Site Checklist worksheet is used to generate the JSON input file used by the VxRail
Initialization wizard? 

A. VxRail Network Configuration 

B. VLAN Information 

C. Network Basics 

D. Switch Config Actuals 

Correct Answer: A 

 

QUESTION 5

requirement must be met when expanding a VxRail G560F 3 node Cluster with a 4ih G Series node in the same
chassis? 

A. Node must be identical to the other three nodes 

B. Node requires only the same drive configuration 

C. Node must be a hybrid node 

D. Node requires only the same processor type 

Correct Answer: A 

 

DES-6321 PDF Dumps DES-6321 VCE Dumps DES-6321 Braindumps

Powered by TCPDF (www.tcpdf.org)

DES-6321 PDF Dumps | DES-6321 VCE Dumps | DES-6321 Braindumps                                3 / 3

https://www.geekcert.com/des-6321.html
https://www.geekcert.com/des-6321.html
https://www.geekcert.com/des-6321.html
http://www.tcpdf.org
https://www.geekcert.com/des-6321.html
https://www.geekcert.com/des-6321.html
https://www.geekcert.com/des-6321.html

